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Exercise 1
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In the case where T' < T, we have z ~ 1.
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In the case where T > T, we have z < 1.
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In the case where T' < T, we have (ng) ~ N.
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In the case where T < T, we have z < 1, Nexe = N, and (ng) < 1.
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Exercise 2
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Exercise 3
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For Bose-Einstein condensation to occur we need an upper bound on the number of particles occupying
excited states when z ~ 1. However, for z &~ 1 we have Ngy, Li% (1) = C(%), which does not converge

for d = 1,2. Thus, Bose-Einstein condensation cannot occur for d = 1, 2.

Exercise 4
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